2012/2011 ¥ sl ol Juaadll Lkl Axala

Claudad) L ¢l iS5 150la JLaA) Auaigh A
2012 »\4 24 I pSailly Cladal) Ausid pud
el EB 1 olaial () aalaey) 48 il

olaia¥! oL Aguladh <Y £ 0a s plasiud dUall ey ¥

(%21 20) U ) gand)
:Basic dx) g3 4l & puaiall oyt (Say (S kg — ]
Integer ¢ s (o X aia j
Real g il ga Y ade i
! String & sl ()0 Z yde i

tlgia JS0 Aol clbenl) 35 (a8 s aa BaSIC Aal 451 il il 281 -2

; C E .
I E = _42 S T R 2 4+
@+ * ! +C)

te JS e adpes Lo S ccllall @ilSus -3
'LAQ_.IA L_IS o gil g L_!!‘}n hn'a’.n LJ;‘-“-"—UEJL\H QLS;&J a0 aal) I..:JLS:LA:I _i

<Y S 5554 5 connection oriented protocols Alea gall &Y S0 i
. connectionless oriented protocols 4ha s il

Al Jno sl Jaliay eail) Jua gl lbise e JS o () cllal) @S 6 -4
el @V are — AKAN b augill LK) — A0 Cilicalge tlua (e

Bl ALY Gl g
) gaaa¥l (3 /o | P PPN VR A XY

212




2012/2011 Jg¥) (a2l Juardl) Ltaih 4sala

Claalad) L ol 9iS5 150la LAY dwaigl 48
2012 x4 24 Y pSailly cilbualal) dasia pud
lelu EME z el (e ) g5 (s dalaey) 43 i)

Clada¥) L) dpudad) NV 153 a6 pladiud cUall racy ¥

i 39 2,311 M i et | batl| 35 g 2y i
(421 20) :J ¥ Jlgmdl
sl i A i) Clalaall e giedit il e Hladiud Lie il —1
.(MO DISK) i suall Jaiscaall e ill e cpsacll dgylas 2pal 2
Clang s3] zib pe ZhAY) Glaagy JBaY! Gy e diladl glydyl 30 -3
Apaddll cluwlall b lgie laial) (S ¥ 3l zDAY! Glaag gasly JASY)

£ JS ey Uja lamge cilihll cilall ditiaad) ¢ 1) o )8 4

A5 A e i ) Jalyall aimge cpall ajill b ooyl diph 28l -5

(421 20) 1 A gl
A pUaill W A slae) Jn -1

ii.  (B7.06) i, (101.13)s i (321.33)
tgpdiall Hlatll 1) 06 shae¥) Jpa -2

iii.  (C02A)6 i, (10101.01), i (121.01)

NAND @l 2 o033 NOT 4l i

XOR 4l g phaaidu NOT Llp il
tleie JS) AGall Jgan aagl o5 AN Col paael Lgayiie Agilaie ililsy 4805 0058 —4
i. X=A+[B.(C+D)]
ii. Y=[L.M+@L+N)7T

172




II-Differentiation

Qucs‘l'lon 1 25 Marks
Find the following limits if exist:
x
x "
i) Lim,_,q ln( t—tz) i) Lim, = (cosx)z™*
. 2
b- | Find Taylor series of the function f (x) = cosx in power of (x-a), then find an approximate value of
cos 61°.
¢ | 1f y = eK 07X prove that (1 — x2)y"" — xy’ — k?y = 0, then use Leibnitz's theorem to prove
that (1 —x2)y®*2 —x(2n + Dy™D — 2 + k)y™ =0
Question 2 25 Marks
3 | Find % for the following functions:
i) y =esinVx 4 xVx 4 sinh"(tan%)
i)  e”’I"S 4 sech(x + y) + 7¥°sec ¥ = ¢
i) ¥ — logity =0
b- |If y = x?cos?xsinx find y™.
c- | Find the Maximum and Minimum values of the following function on the given interval:
y = cosx + sinx on [0, 2z}
Apuanigh iy 1 g G jualh and (i il liall okl e
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Tanta University Physics & Mathematics Dept. Faculty of Engineering
Total Mark : 100
Course Title: Engineering Mathematics 1(A) Course Code: PMEO101 Year: Preparatory
Date: 17/1/2012 (Final First Term Exam) Allowed time: 3 Hours No. of Pages: (2)
Answer all the following questions:
I-Algebra

Question 1 25 Marks
a..

Evaluate s =1 +B+ R + 1962 +

98 9.1827

& Prove that 1 —-2%+3* 4% —(2n)’ =-n(2n +1).
c- $ ; 27 +5x +1 : : : " "

Factorize the fraction f (x ) =-—; to its partial fractions then obtain the coefficient of x " in

(x"+1)x +2)

the expansion of f (x ).
d-

Use any numerical method to solve the equation sinx +—;—-1 =0.
Question 2 25 Marks
a- | If r,,r,,r, are the roots of the equation x * —3x +1=0. Deduce the equation whose roots are

G =123,

r+2
b- 2 -1 3 2

Solve the system of linear equations Ax =B ,where 4 =|1 2 -1| & B =| 3 |. Whatis the rank

0 5 -5 4
of 4.

5

3
Find the eigen values and the eigen vectors of the matrix 4 = [ _4) . Show whether these eigen

vectors are linearly independent or not.

d- | Solve the equation x*—7x*+17x?~17x +6=0.
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